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Question Number : 1 Question Id : 4771873213 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rakesh, a Class-IX student 1s actively involving in co-curricular activities than

curricular activities. This relates to

SPSTUSTID suFHLiL WwrsnTeusaTTer @ rrGssg ssval dlFwsour sn aill 3)snsnri
UTL &S L F GlFwsouriigsh FHUTrlGLTH usi@ tiarsrdnmsir. 33
BlsrLifursTs

Options :
Inter-individual differences

ST S6HbEH FlewL Guwwrsr Gsunium{

1. %
Intra-individual differences
F6f BLI(Gd &6 Gar 2_sitemr Gaumiim(y
2.
Both inter and intra individual differences
ST SemSEH Fen_Guwwrer Caumur® wHNID F6sT IWTL_5(EhHb F i Ger
2 sirer Gaumuim(h) @) rewr(Hib
3. %

Neither inter nor intra individual differences

ST 55553 FenLCuwrer Gaumur® wHnID Hest Tl 5Ems EsTGar
2 srem Gaumiuim(h @) e B G)svsmey



Question Number : 2 Question Id : 4771873214 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT principle of child development

BUbeng suartdFF upmlu BlsTsTenarSafs) SaunTeardg) sTH GlausTd HeairL_1jls5.
Options :

Development proceeds from general to specific responses

suemt FFwrar sl CUTHiEsm Ded(HHaHl H6vflsIn nisHF 6lFs0aID
1. %

Development follows the principle of interrelation

susITT FFWTeTHl S0 BUTHERSH Blew_Guwrer Glsrfsnuty Ulsirupmib

Development proceeds in the direction of the foot to head

auemt FFWTeTH ST6060 HHH Sewevsnit CHTHS I HemFullst BlFsvaID

Development exhibits lack of uniformity in the developmental rate of a
child
s FFAIITOTH P(F HbswSuist sueridFF allfls53l0 Frrear Blensvsmiids

SHTL_L_IT
4. % o



Question Number : 3 Question Id : 4771873215 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the periods of development given under List-A with stages as giver
under List-B with respect to Erikson’s Psycho-Social Development Theory
TS F6ul 63T 2 6 FerpHallwsy suswiFFS Cariumigsituly sufisna-A wilsb
BlaTHssOUL 13 (/S G susTiFF STevsL L SHsns sullsns-B ullsb
CaETHGSSILL I3 (HEGHh Uy BleneosGarm® GluThisHs.
List-A List-B

suiflsma-A auflsms-B

(Period of Development) (Stage)

(suemi & srevsL_LLb) (L Blemsv)
A)  Birth to 12 vears 1) Initiative Vs Guilt
2
Ao sl mps 1= weiTelsTBUY Vs GHD 2 suriey
<, 90T () H 6T UM T
B) 6 yearsto 12 years 1) Autonomy Vs Doubt
6 =y sy bl (HHa 12 seirerm_F Vs s5G551D
=), 6907 () 6T 6UEMT
C) 3 yearsto 6 years 11i) Trust Vs Mistrust
3 oy ey 0l (B35 6 BlbLlEsns Vs gysu poLilssns
=, 90T (b H 6T 6UEHT
L SN - O S 1v) Industry Vs Inferiority
. .
1% sy suarig 60 (HHEH 3 Y Gpriflsd Btk Vs smipey
|, T (HF 6T GUsmT LD S3T LI LI T 65T 610 LD

Choose the correct one
Flwrer psrsnns C51H05HE5
Options :
A-in, B-iv, C-1, D-n
1.

. A-iv, B-m1, C-1, D-n

A-111, B-iv, C-11, D-1
3. %



A-m, B-1, C-iv. D-n

Question Number : 4 Question Id : 4771873216 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to the growth and development
of a child

2 FHpHenswilsir susmiFF wHmb CwbuThH HU55 SaDTaT Fm DswDS
HEWTL D S.

Options :
Development is comprehensive than growth

Guibur® susriFFsnw il ailflsuTsarg)

Growth includes quantitative aspects; development includes both
gualitative and quantitative aspects

QUG & sTENTEMTATEMEUS FnMIFHeM6TS GlBTeTL FHI. GbUTH
STEUIT GOUT SITEM 6L H T )| HEIT LIGITLIGTENEUS T 1) 6T @u’mﬁrml_q@m

- GlsTeiTL HI.

Maturation and environment influence child’s development

Gubhsnsullsit susriFFuilsd wpHiFFFyb FHNIFSHLID FTEHSSMS
|, TDuBsm

Growth 1s comprehensive than development

v suami &4 Guibur’sme afl aflflsursma)
4.



Question Number : 5 Question Id : 4771873217 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the correct statements regarding the role of
heredity and environment on child development
2 Hbsmns st ausrFFAuilsd wrysulfl wHMID & niFELpedlsT uBISafllien L
unph FAwTear S pnisensril Llsirsumsusreun pled /Hh 5 Semm_mls
A)  Heredity plays a role in physical development of the child
2m Hpbensullsit 2 1 s f Hlwrer suartFFullsh wrysuiflssm nissT m
LIBI& suslsHlsiTmgl.
B) Environment plays a role in the emotional and social development of the

child

P GHUbmsuilsit susTiFF LHNID Faps GUbUTL I3 FDOIFSHLD PH
LIEBIF aublE A aTmHl.

C) Development is the product of environment and heredity

s FFAIWTETH] FDHNIFGFLPsL HNID WIysuld FnnjlsT s allsnsrLiwsr.
D) Learning and maturation influence development of the child

2(F FHLebsnsullst sustiFFuilsd sHMsd WHMILD WPSITFF FTEES5MS
sTHLI ()5 315657 MeuT.

Chooze the correct one
FHlwreT psranpns CsTH6S5HES
Options
A.C.Donly

A C D uw @b

B.C. D only

B.C, D wi {ib
2. %

A BC 01113'

ABCD



Question Number : 6 Question Id : 4771873218 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher has provided support to a student in performing mensuration
problems and has gradually withdrawn support after the student was able to
perform the problem independently. According to Vygotsky, this is

ot g fAflsnw g wrswraluilst wrsall mi UlrFFsmaruilsy stsusurm)

BL 55 0lsTsirsT Gausim(ib sTeiTUgl F1U551 2 Fail blFislnri. srert b5
wrenrall STamTEGa HTanaTd HaualHzis BB TsTEHIL Bansouilsy 2bHs

2 sallmiusg GlsTehFIbElSETERFITS BINISSHS GlsTarS DT,
allurGsmisfluilsruy @55 Blamew

Options :
Scaffolding

FITSHHL_(HFH6D

Fading

LD Bl & 61

Shaping
. susmT FFAWsnL_ WS 6lHTL_EIFHH60
3.
Guiding
sl ST (hHeb



Question Number : 7 Question Id : 4771873219 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per Kohlberg's Theory of Moral Development, in this age. the child behaves

with obedience for avoiding censure by higher authority or social systems.

Gsransy GluTsFlsT Yyn6EY sustiFHs Gariuriigsiruy @)EsS gl pm
Gubensg GlursuTssT s FApS (PHDBHETTSD
Fallt &G susmsuilsy LS5 GlsTsra DS

HewT Ly HHLILHeusms S

Options :

4 to 10 years

| & 4-RO6bs 10 g BT

10 to 13 years

P 10 -@)sfimBa 13 = (Bl s
2.

3 to 8 years

3-3)s0(FiH51 8 0T () 58T
®

8 to 13 years

L 8 -@0Bhs1 13 e [H)&Gsir



Question Number : 8 Question Id : 4771873220 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Wechsler's Block Design Test. Picture Arrangement Test and Object Assembly
Test belong to this type of intelligence tests.

GlsusnuFedl st SL_smL sulgen GFrsemar, UL g H&EH CFrasnar GlUTHsneaT

ey CFisFh Gerssnar o Flwear B)H5 suemSHWTET s smT D sy F

GFITHsmaTH6MTT(FHLD.

Options :
Verbal

- Gl miflFm

Performance

) GlFwsd Flmsir

Paper — pencil
HT6T — 6T HICHT6L
3. %
Projective tests

. YnsEsnmnF GFrsemer
4.



Question Number : 9 Question Id : 4771873221 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who defined the personality as “the dynamic organization within the individual
of those psycho-physical systems that determine his unique adjustment to his
environment” ?
B, (6HEMLD STETLIF] sp(T S60TIITSIIST 2 6T —2_L 6U(Lpsm DH6I 65T s (T F6vT IITST
FHNIFHLANEFHS 5HSuTN B)snFauTs BLHFH BSTsTT sulflouFHHSmH" sTeiTm
2 sHemwl uHml allsrdsSlwesut wri?

Options :

Hillgard

L% anls0&s T L

Ravmond B. Cattel

rriiinsnre L1.s0 G s

Allport

o S soGuTiT
3.

Carl Jung

HTT 60 g_g.ﬁj



Question Number : 10 Question Id : 4771873222 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-X completed student wants to continue his study and at the same time
wants to join work to help his family due to socio-economic condition. The
conflict being faced by the student here 1s
USSTID suGHLsnU (PplgHSH sp(F LOTEWIsUT GlSTLTHH UigHs af (HyFlnmsir.
2G5 FWSH D HaTH| (& HILUSIBST Feps- GIUTHTTSTTF @D Blemsoullsir
STTEOMTS §HEUSI DEH 2 5a)usNHETS GaumensHF GlFsvs) all(HLbL s Dsir.
Bb5 LTenTsUST 6THIT Gl% TairEHLD FdhHsD

Options :

Approach-Avoidance

& 3% s0-mils0 FH6L
1. %
Avopidance-Avoidance

. allsvsa - allsussd

Approach-Approach

s v AEBIED- SEPESD

Double Approach

Briig iy aflsossd
4. ®



Question Number : 11 Question Id : 4771873223 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements regarding the methods and approaches of Child
development
BHUYHMS susTTFSF (pewD WHDID e FHLpspn BSTLTUTST FIILTEST F&DmDd
Carholshss.

A) Caze Study Method is not applicable to an individual

FefilILL L g i1e)pswm sp(f S651 I TEHSHU GILTHESTH
B) Introspection Method lacks reliability, validity and objectivity

2 siTps CBTH G WenpDILilsy, BIOLSSSHETENID, sTHL NI WHNILD LjMD 6 IIsm LD
B)svamev.
C) Observation Method can be used to assess the behavipur of an individual

in natural conditions

[ Blwsburs @psdlsh sp(h SefWTssiT HL SsnHamil gjsmail_
2 DNICHTES6 (LemDswIILT LIsTL(HSSH60TLD.
D) Experimental Method advocates the study of behaviour under completely

uncontrolled flexible conditions
(pIpsm W TET SLRUIUTLHD whHnib GpFlpsurar @Gwsils) L HmB
Silismsy BL 55 GFrsenar wsnp susdliymidsiH ngl
Choose the correct one
FHiTsT pairsnDS CHTH0SHES
Options :
ABC.D
1. %
A, B, Conly
5 % A B, C w
B. C Olﬂy
B. C w {pib
3.9
X C D 01113‘

A C.D i (pib
4. %



Question Number : 12 Question Id : 4771873224 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Decision making, Problem solving and Logical thinking belong to this domain

iy BlauBhlSHe0, Flaseh FTHH60, HTeHTHFWTSF FhHHeHe GUTsiTmeT (B)hHSH
HaTSMGF CFTHIHMa.

Options :
Psycho-motor
GlFwm HemiD

1. %

Cognitive

o 9 D5y S HeTLD

Affective

2_6WTT 61k HE6ITLD

Conative

STpFFSFHETLD



Question Number : 13 Question Id : 4771873225 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify those that are relevant to learning

LilsiTeupsusmsunmlsdl /S SNDANSEHS GSTLIUTaTDsN DS STl 1 %.

A) Unlearning 1s also considered as learning

sNHTWsD B)HSSID SNDUTHS S HBLIUHF DS

B} Learning 1s a product and not a process

SNMeD eTedTLS] p(F allsmarLisit, GlFwsdpsnn osvs
C) Learning prepares an individual only for any maladjustment

SN DST ([ STIWTST sTh Sl S pSFHanFallDFHWL 2 L sitLL_ T35 susnsuilsd
FUTTURSSIS DS

D) Learning results in behavipural change through practice

snmsd GlFi LullHAuwlsir uflwrTs HLSms WTHNSSH NS TaT LIWsiT
slsmerrsy.
Choose the correct one

FriwTer psrsnDs CHTH0SHES
Options :
A.B.C.D

1. ®
A.B. D only
AB.D w G

A B, C Ulll}:
A B. C w b

A.D only

A. D o _(pib
4. ¢



Question Number : 14 Question Id : 4771873226 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the items in List-A with the needs they represent given under List-B

suflsns-A wilst B /S G0 Fnissmsr 25T CHemsusamers ST (PID sutlsns-B

uilsir £1p B)wriusraumEmT®H BurHizH .

List-A List-B
suflema-A sumflsms-B
A) Elders support 1)  Esteem needs
AU IS TET6UT H6T D, STy 2 i Ggmsuass&r
B) Social status 1) Safety needs
FepSH UTHSTULYS SHemeusHer
C} Sleep 111) Love and Belonging needs
FTHBLD 96Ty wHmih 2
Gzsmeussir
D) Affection 1v) Physical needs
81 TFLD 2 1 60 GHemeusmsir

Choose the correct one
Flwrer @srsnnd CHTH6SHES
Options :
A-in, B-1, C-iv, D-11

1. #®

A-11, B-1. C-1v, D-m
2.

A-n, B-mi. C-1v, D
3. %

A-iv, B-mi, C-1, D-n
4.%



Question Number : 15 Question Id : 4771873227 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the correct sequence of the steps involved in

learning process

Llsiteu Hausmsupplsv, SHDsd  GlFwsapampndEmn 2w FAuTer Uiy FBlems
suiflenFsniid %eirL_1js.

Options :
Goal, Motive, Overcoming obstacles, Achieving desired behavigural change
B)s0d 5, ems s, FmLsnid N punF S5 ol HLUSSES HLHMS

“ WTHNHMNSH G eML_HoD
1.

Goal, Overcoming obstacles, Achieving desired behavipural change, Motive

Bk, swLsow BDH WpunHFssse allHlbuSsEs BFLSMS WTHDHMS
S|ML_H61, DTS HLD

Motive, Overcoming obstacles. Achieving desired behavigural change. Goal

&, SmLenl WUDH wunFAsss) ol HhUssES BLSMS WTHDHDSH
. SemL_5Hs0, @lsvs g,

Motive, Goal. Overcoming obstacles, Achieving desired behavioural change
o LD, 3605, S Y gpunHF5Fs0 allHlbUsSsEs BLSMS

THDSMS BjsHL B0
4.9



Question Number : 16 Question Id : 4771873228 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the factor of learning which 1s associated with Men and Material
respurces

Levf1H6iT WHIID GIUTHET sueTepsOFGHTH GCISTLILsmL I SNHDD & TTemtsnils

seirL_Mls.
Options :
Proper seating arrangement and peaceful environment
(WemmTsr @) (HHenS SswILIL WHNILD 26N TET & DIFELP60
1.
Linking the recent learnings with those of the past

SHEUTHSI SNHMY Fn MIBENET (PHMSIL SHD6D Fo1)ISS6mT(H)
BB L LuHSHs0

The basic potential of the learner

. FNHEUTTsT 2 liLsnL 2 sTemTiBS 2,nDsD

3.
The level of aspiration and achievement motivation

siilsm Lpey Blsmer NHMID BeHL_6Y Dard:HLD



Question Number : 17 Question Id : 4771873229 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the theories given under List-A with the basic principles given under

List-B

sufisng-A  wlsh GaThsSsuulymesHh GCasrTiurhssnst suflsns-B  uilsd

RlaTHssIUL 13HSFHD yliusnL & blsTsTenssGerTh ClUTHSHIH.

List- A List —B
sulems - A suflsms - B
(Theory) (Principle/Laws)
(Cam_ur®) (Q®reirem &/allglssir)

A) Operant conditioning i)  Learning is based on the principle of
SrevrL_s8lsiT 1l asspclation and substitution
Gg;n‘s&ryjm BIVBISED & 1) M&0 T FH) @grﬂ_rfq WM MILD WwrHmis
o ﬂmsﬂq@ggw Bl & Tsirem & FHemam 219 LILISW L_IIT &

Gl&TaiTL_FI
B) C(lassical conditioning 1_1} Stamping in correct responses and
wry 3 955 stamping out of incorrect responses
~ : .
e L Friwrar aflsnLuflsd 9 1psH5H %50
Frwlsvsurs allsnuilsb g upssTen o

C) Trial and Error iii) Emphasis on perceptual

psiTII Ssumld $Hmsd reprganization

LsvusmlTey$ S meit omF remioLismn L
o601y D15 %60

i‘r} Emphasis on response rather than
stimulus

HTITL sme0 6l FH60EIFH6M 60

susflymis5sd
Choose the correct one

Friwrer aflsnL_Gliwsitenns Ca1H 65 H5S
Options :
A-in, B, C-u11
1. ®

A-iv, B-1. C-n
2.



A-iv, B, C-11

A-m, B-iv, C-u1
4.%

Question Number : 18 Question Id : 4771873230 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-V student observed the Gardening work and plantation activity of high
school students at school. He planted flowering plants at home. The action of the
student reflects this step of social learning.

P(H 2BSTLD 6uFLIL LDTERTIST, 2 Wi BlensoLiLisiTsT wTewTsutHer LisiTefwilsy
Glxiis GariL Gausmsvsnwwld Llf(RFsnsoujld 2 NHNIS HeusdlSHSTsT. 2 susir,
Djsusrgl afL_1g60 LLFOlFIy Henar BLL TsiT. 963 WrenTaueat st 365 L allysHens
Fepss snnailat ugauflsnFsmwt Urglusfssng.

Options :

Attention

FeuTl(1psD DS F6UeITLD

Performance

- GlFwsH S siT

Reinforcement

sUSPIALL L 5D

Retention

HEHBemauLlL



Question Number : 19 Question Id : 4771873231 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the aspects that can be transferred from one

situation to other situation of learning.

Lilsitreu(hsusmsunmlsl, sp(h Fnmy sHDsL Blamsouilsh s @HpalledlmHaH F)sirblarTm
BYNS G LTHDULIL S 14 WS
A) Habits

LI LD dh & Bl & 6T

B) Knowledge

< plsy
C) Skills

3D S5T 6T

D) Feelings

2 _GU0TIT 61 & 6iT
Choose the correct one

Flwmer psirsnns C51H65HES
Options :

AB 4. D
1. ¢

A . C. Donly

A C. D wmw
2. %

B. C, D only

B.C.D w1 b
3. %

A.B.D only
A B, D wr G



Question Number : 20 Question Id : 4771873232 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A (Class-VII student tried to recall the concepts of Class-VI but the concepts

learnt in Class-VII are interrupting him. This 1s due to

(1 STLPTLD &) (FHLIL| LOTsWTeU 6T, DT suGHLLleh LUy HF S HHH HdHensT
UL plw gpws)b Gurs), sTipmsd suFly UTL ST nissT @eml wplsFlsTher.
3 H 65T STTEMTLD

Options :
Proactive inhibition

GlaTLmSlF GlFsOLIL TemLD

Repression

2_6iT 61 (LD & H6l

Amnesia

o3zl GBIl
3. %

Retrpactive inhibition

LlsiramalF GlFwsvLIL_Tsmio



Question Number : 21 Question Id : 4771873233 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suggest the aspects which help individuals to improve their memory and
retention abilities

SHTWTL_H6T SBIFEHMLIL BlsnaTed TH DD WHMID ShHenausHls 6lSTarEmLd
Bl wsysnind F 2 Fa|lb FmnISsT UND] CILTFNET Fn IBISHST.

A) Appropriate motivation

GClUT(HSSLDT6IT 295 51D
B} Over learning

wlsns Lig i/ sHosd
C) Being more emotional

9B HTSH 2_swriFFauFLUILIL 60
D) Association of ideas

&(FS ) BeillsiT BlHTLTL
Choose the correct one

FlwreT spsranns C5TH6SHES
Options :
A,B,C,D
1. #
A. B, Conly

. % A B Coul®mb

A.B.Donly

. v ABDulGo

B,C.D Gnlj.'

B.C.D w @b
4. %



Question Number : 22 Question Id : 4771873234 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The educational programmes such as Acceleration and Enrichment are to be
followed by the teacher to deal with these students
allsnrey UBHSHHHL WLHOID suaTUUBSHHL GuTsiTn Hsvall BlHLpaSHensT
o Aflwiser B)Hs WrswrsuiHenstd &HHHs0 Blarsrennd Gurg LlsTunmiusut
Options :

Gifted

HYPSSDID 15155
1.v

Learning disabled
DML GHmDuUT(h

2. %
Physically challenged

2 L s0 Hempur(h

Slow learners

GlingiaTss SHGLTT
4.%



Question Number : 23 Question Id : 4771873235 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this learning, Learners imitiate and advance thewr learning by more
experienced partners

Bbs susnss SN FDaTls 9P S snILIsuBIGIHTEMTL Fnl L Torll 2 L 6T
BmsEweursy sHGUTT sHnsms (psTelarRUugD psTGarTaAlF GlFsba
(Lpigujip.
Options :
Insightful Learning

BHIsHTGaMT TS S S SDD6D

Imitational Learning

GuTsvs S0 Dsv

Programmed Learning

GlFwWsLFIL_ L sulfl SHsL
3. %

Guided Inquiry Learning

FlsnsnTGWTH SH D6
4.



Question Number : 24 Question Id : 4771873236 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The teacher has to follow these steps to improve individual learning among
students

WwTsnTeuTSEHEFH PenL_Guwrer satwrst sHmsnsy Swbu®ss FfAfwut B)H5
Uiy Blemsussmaryl Lilsirinp Geuenr(Hib

A} Set clear and specific goals

Gl GsileuTer Haflss [F)e0dhFHBM6T 9)emL0d 560
B) Make goals dynamic with revision at regular intervals

B)s0& FHHmeT DD sUTIIHSSTHD Frmer Hrev F)enL_Glsust wilab

wrHlien bk Hs0
C) Involve parents

CluHEprsnT FRUBSSHD
D) Let students own their progress

LD TEMTUT H 6T HBRISST (PpsiTemaTNDSMSS5 STHISGsT B swridSHHs0
Choose the correct one

Flwrer @srsnnsd CHTH6SHES
Options :
A, B, D only
- A. B, D w_({pib
A.B. Conly
A, B, C @b

A, C, Donly
A C D w b
3. %

ABED
4.



Question Number : 25 Question Id : 4771873237 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In SQ3R method. the learner has to follow this sequence
SQ3R yswpuilst, sMGuTt @65 suflemFwsnwisnull sTunn Geusir (Hib.
Options :
Survew, Question, Review. Read, Recite

ST bls Ry, allsrT, wpiurtsne, surd, spriyal

1. %
Survey, Question. Read, Review, Recite
s bls Uy, allarT, surd, wpurisne, Uile
2. %
Survey, Question, Read. Recite, Review
i HemrsblH[HLIY, aflerT, surs, spriyall, purTsnsy
3.

Survey, Read. Question, Recite, Review

HemrdGlEHILY, surd, aflarT, slyall, wniurisnes
4.%



Question Number : 26 Question Id : 4771873238 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the Phases of teaching given under List-A with the associations given
under List-B

suflsns-A wilsit £1p ClaTHSSULL 13 HEGHWD SPLUSH60 SLU_L Biseanar surlsnF-B

wilsit £1p GlsTHSSOUL 1y (FSFHLD Hsunplst BlsTiGur® ClurmHsss

List- A List —B
suiflsme - A suflems - B
(Phases) (Association)
(BL_L_missiTr) (@smLiy)
A) Pre-active 1)  Conducting Group activities in the
(LpsiT- BlFwsd class

L Lilsb (H(L BL_ 619 W HEHEN 6T

BL-SH]H0
B) Inter-active 11) Giving home assignments
BlewL_- GFwsd sf (R spriLlsmL_LILL1 Liswf] &(HFHs0
C) Post-active 11) Writing lesson plan
st @awisd uTL 53L& SHIOL sTUpSIS6

Choose the correct one
Filwrsr psrsnnsd CHih0l5HES
Options :
A, B-1, C-m1

1. %

A-in, B-1, C-11
2.

A-m, B-n C-a
3. %

A-1, B C-m
4.%



Question Number : 27 Question Id : 4771873239 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following strategies has less scope to promote group learning
among learners?

LilsiTsu (HLb s FpsnD 2SS Harils0 spsitny sHGuTTlemL_Gw Guwibuhs5isugls0
SUTIILIL| (5M DeUTeT S ?
Options :
Discussions

allsuTsib

Brain storming

PLDEW 61T & s 3 61)

Lecture cum demonstration
o allflsysnr LHIID GlFwsdailsTSsd
3.

Seminars

&[S ThIHLD
4, %



Question Number : 28 Question Id : 4771873240 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT statement among the following regarding guidance

and counselling

Llsrsumps sulfl&Tr L soib gyjleysnr USTSVID FH5F FmDDIS6is) SeunTer
DD CHTHE5HE5

Options :
In directive counselling, the counsellor plays an active role in
understanding problem

Grriy wrer suflsrl L sblsit GUTs yDlsysnr Fniusui FsHemeors YilhS
GlETeTeuFlsh (PpHFEIWL UBISTHDIS DT

In non-directive counselling. the counsellee plays an active role

suflsT L sb F)svsurs Blemsoullsy, gnilsysnr Gsusir Rlusui LS THIISIDTT

Directive counselling is also called as client-centred-counselling

CBriy suflSTL L 60 suTlgHensWITaTT snLDi sulfls T L s sTsiT 1D

3 ¥ SIS SLILMRBDSI.

Vocational guidance helps i1n career planning and professional
development
GariflsoFri suiflam L s, ssall/ uswi] Sl 1l eflh @ Glsriflsy

L WsrGaTHDSSHGID 2 S50 SIS



Question Number : 29 Question Id : 4771873241 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the learning styles given under List-A with the activities given under

List-B

suflsma -A wilsit £1p GlsTHSHLUL 1y /G0 SHDL BewL_swi sutlsmF-B ullsir £ip

GlaThHss0uLl 1[G BLaysmesBarm® CluTprss s

List- A
suflsms - A
(Learning style)
(sppsd penL )
A)  Visual learning

sTFS Fmsir sulfl sHmsb

B) Auditory learning

GlFallsulf] sHmsv
C) Kinesthetic learning

Bussaiius sl spps
Choose the correct one
FriwTar psrsnnd CHiHolSHSES
Options :
A, B, C-11

1. ®

A-11, B, C-m
2.

A1, B-n C-m
3. %

A-m, B Ca
4. %

List —B

suflsms - B
(Activities)
(BLauIy SHm)

1)  Listening to tape recorders
speflliuglsys 5 mallullsr
LUFleyBemers GHLL 60

1) Understanding Gestures

sHFMBHMETLI LTIH%H Bl Tairsmsh

iti) Preparing models

WwTHMSemarsd SWITTSS6D



Question Number : 30 Question Id : 4771873242 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The teacher can promote team work, leadership. confhect management and

interpersonal skills among learners in this type of learning

o FAflwi @Ghs susmswurar sHDedlsy Guolusnil, SHmevsnwsgHieubd, FHH60,

GusoTeiTsnie WwHMIL P(HsUHSEISTHauHESmL G Fpsitast sHEUTTlsnL

Cuwbu®ss Wy,
Options :

Co-operative learning

w1 HPays sHDD
1.¢

Teacher-centric learning

g At smiowd sMHDsD
2. ®

Self-learning

STGaT S D6D

3. %

Subject—centric learning

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

UTLLL&S) soinild &Hmns

Language I Tamil

477187107
2

Online
Mandatory
26

26

30

0

1
477187169
Yes

Gw



Question Number : 31 Question Id : 4771873243 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

eT_(h&GlsTenswilsh B bGlummisiter Bremsvd CHTHESHES.

Options :

pp Bl
1. %

D51 ST S5 TEHF]
2. %

B(H&H @HDsiT
3. %

Gy rrewmrid
4.

Question Number : 32 Question Id : 4771873244 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
QUM D& G WPwHF L siT HTEBST 919 Prorers Gusbsumiil LsDsnsOL
GUTHBSID pwHFTsy LIS @@L sTpSFHIHsT

Options :

L% 2 S, 2—

A 2 P
2.

B), 61, 22
3. %

2,42, 8



Question Number : 33 Question Id : 4771873245 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Flov CHrEisaflsy Fsv WallHTHsT sTaD RTYSHTHEF FTHS55 W gsTRISL0 all(HH
Glummsui?

Options :

& 5007 6001 & T F a7
1. %

TTEOLD (616097 65T
2. ®

Bleo W & TH ST
3 o oo BbHs

&. 9afFrul
4.%

Question Number : 34 Question Id : 4771873246 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
ol §H B FHEmdbHLU GIUTHSSLWTET UTsnsU GlILTHS5HI%.

) &1,mi - ) usoi uTs aflsnarpnmn ailH]
) =4F, T - o)) geTDaTUT aflmarwHn af 3]
) =y, =y - @} GlusiTLmed sllsmarpHml sl (H3)
V) oysit, =y sir - ) usvallsirumst adlsnarpnm ail@ s
Options :
[ - =y, Il - =y, 1l -@), IV - =
1.v
-y, -y, l-=IV-03)
2. %

=@, -, - oy, IV = oy
3. %

-, 1 - gy, 11 - gy, IV = 3)



Question Number : 35 Question Id : 4771873247 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Gurpys blsH55 2,6 ruls b HmblsTy

SUTTSD eTeTLSTGUTSY whlSaHisems ST L — FUuUTL sog Heflsd @)L bGlunmisirer
=& sut ]
Options :

) Rusvay pailps oyt
1.

v Gsummisnio g smf)

3 % Glum s LilsiT sy (H5em 0 1w ]

SHGULGUDD jewfl
4, %

Question Number : 36 Question Id : 4771873248 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘WwEIHT USDDILUSSHSTS — Rredlsir gy Arwi wrt?
Options :

L F LT Slpmri

GrsAlpmi
2. ®

uUTehGFTS (peuflsuim

LISUSMTIH S| (Lpsufieui



Question Number : 37 Question Id : 4771873249 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
QUG (ST SIT BTN 2 60H IS EH — SHHI
suTsTLHLp Gls T FLOPHT(H- sTevTL LITLg Weud?
Options :

urrghwmt
1. %

UITT H15 T F6iT
2. %

& G007 G907 & T F 637
3.¢

&1 GUIT GUIT & T F 57
4, %

Question Number : 38 Question Id : 4771873250 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘BrenTLsvev’ eTsiranib GlFrsvsmevts LINS5 sTpSHS SlewL_LILF) ?

Options :

@ Teur () + s

Blrei(® + 2ysds0

B renr® + @)svsv
3.¢

BrewTL + gjsvsv
4. %



Question Number : 39 Question Id : 4771873251 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘9 pHIL CHmiib’ sTeiTD HTedlsir o Filwii?

Options :

FTHT

Flim.ail.5

4, %

Question Number : 40 Question Id : 4771873252 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘D sTeiTenih GlFmsvsdlsiT GlLim(msir?

Options :

2,16 LD
l. %

Bleul_sib
2. %

Br&sib
3. %

AEE LS
4.9



Question Number : 41 Question Id : 4771873253 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
uTensLS FHlsmemruilsst 2 flLiGlLimmsir
Options :
LsmTiT SeYILD LjswTi H60 Bl S5 1pLb

1. %

Bmszsaub BHE550 BIOlSS Lo
2. #

» 2arL gD 2arL 60 [BL0l%S(LPLD
3. %

Llflgspib Uflssd Blfl$supib
4. %

Question Number : 42 Question Id : 4771873254 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

USsemsTll UDSESTSHT sTaiTLIS

Options :

2 _swrtFHsG GleTLi
1.

S L smemd GlsTLi
2. ®

oot aflemers GlsTLT
3. %

sflearmd GlGri
4. %



Question Number : 43 Question Id : 4771873255 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘B suh3HsiT eTeTLIG) ?

Options :

LTSl M (1P
1. %

G AT Gl (]
il p

2.
HITH) E].I@
3. %
Bl sugep
4. %

Question Number : 44 Question Id : 4771873256 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘sTi1g) sTeiTemiD BlFTsD HDH D WSS TLD
Options :

susTRSTL TS HDHDLa)STLD

1.¢

GlsiTGSTL T @nulws &b

BlamL_ 56 5TLTs HDOIWaSTID

2 wWilir$6lsrLis GHUwusISTD
4. %

: MCQ Option Shuffling : Yes Display Question

: MCQ Option Shuffling : Yes Display Question



Question Number : 45 Question Id : 4771873257 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

'BL eTeiTamlh GlFTsh sTelsueMmBLI LISTLILISLDT

Options :
Gl usTiUSLD
1. %

aflsnerl USTLILSLD
2. ®

@11 USTUILSLD
3. ¢

2 Ml USTUILSLD
4. %

Question Number : 46 Question Id : 4771873258 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘BrisnL s sTulliuBISsT sTar gsnpssUiubeaug?
Options :

FUIUF|STT (LD et Gl smev uib

FoOuglsTrpl Fous FbS TN LD

SUSHETILTUSILD FevorL_s0 G5 F b
3. %

wewf G Esmeo]lb Fausk b S TLemt iLb
4.



Question Number : 47 Question Id : 4771873259 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

(pH6L 6TLPHHIHHEGT 6T6HTLISHEU

Options :

2 uili sTpSHISsir, Bl BEIL(1pSHIH 6T
1. ®

P 2 uilt sTapsHiHsir, 2 uiliGloil sTupSFHiHsaT
2. i

BDDIWwaST D, GHHHlwsdlsTph
3. %

OHTTdH [HNISBH(PLD, PETHTTEH (F1)15 S (LPLD
4. %

Question Number : 48 Question Id : 4771873260 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Hetla@mlsd (psiT pmi 2 wilisurlsit Fri{ib’ sTsitn Yewri &4 ail$l, £1phsremiib
6ThSF BlFTsLsIS G GIUT(HSSLTETH?
Options :
& LO|LpsIT M SuT

1. ®

sl emsy
2. %

(LpsiTsiflsm 50
3. %

wrEsui
4,



Question Number : 49 Question Id : 4771873261 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
HI6TSTEY penF ayHFH 2 mhu
Options :
suEhALIUT

1. *

FHal LT
2. %

g AT
3.9

Gleusirm

Question Number : 50 Question Id : 4771873262 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Folk Literature — sflurar smsuiblFriamend C5THES5MHES.
Options :

BlFsu el a0 &b

1. %

Be e (B)s0dSiD
2.

srUdlw B)susElwnbd
3. %

BT Ruymn B)susslb
4, %



Question Number : 51 Question Id : 4771873263 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
(3)6mEI LT L(HsULD 6TsTLIG] 6usm T iile0mssT Li(HsuLD

Options :

12 v 15 sz
1.

16 gpzsv 18 suwig)
2. ®

3 psHsd 6 suwz)
3. %

6 wpssv 12 suwigy
4. %

Question Number : 52 Question Id : 4771873264 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
FUpSETTem S BlETeTems WKL ST BlSTL T snL g
Options :

Grorsrs
1.

Gzo. & mewsmr epiSH)
2. ®

spriflsiy e L_sir
3. %

HTHS L1y F6iT
4. %



Question Number : 53 Question Id : 4771873265 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
P (F FLswsy UTTLILSsY SamLplFlsTn Glemsd GlsTESlsmnw sTeiTLIT
Options :
HET HbTFF]

1. %

HeiaT LTS Fsl
2. %

L o B EDSa

HEIT & T6HT 9 6Tay
4. %

Question Number : 54 Question Id : 4771873266 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
weraflwmn EHT_uTrhissnst St susdliynusshiu onepTsGarT(H ClUTHSHIS.
)  yemwliy Blemsvd GlETsTens — o) 22TeT suTL_F6iT
) GlFwsd Blemssd GlHTaTens — o)) 2areirt’, 19 FFeri

) BLgenss Clararems — 3)) grerFull, Gggibs srehFsd

Options :

= o, 11 - oy, Il -3
1. ®

- oy, 11-@), Il - 5
2.

1-@), 1 -y, Il - oy,
3. %

- @), 1l - oy, Il - oy,
4. %



Question Number : 55 Question Id : 4771873267 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
usirafls emD Fapspd (Schools and Society) steirm mredlsir =y Ffwi
Options :
y3Srm Glusd

1. *

. SHTHBIILG F6iT

2.
o TevTig GFifl
3. %
somsir(fudl
4. &
Sub-Section Number : 2
Sub-Section Id : 477187170

Question Shuffling Allowed : Yes



Question Id : 4771873268 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (56 to 60)

CarHssiul_(Rsirer LUSSleniid SalaTTsl LigdH5 allarTsssnd @ allsnLweaflésa)b:

sUlflens Blusss3lsiT FHews sterm GurHDUUGE 2 UlTsTd LTy ST
CsiTaTHSH HEHWsTT FTDUSMT UL &eHT eTeiTenild FHmrrlsy LimbHeur.
AeremwiGG YmsluL Ssame0, BFxssme0, GFrglLLb, mSHaD, Bams g £l
Slenpssilsd  GlumallFuubblsTenr®, GBrib Sl s@Hm GuTblHsvaTD o FHsir
B UuBISmer) LflsrnTi. Flawhsssvailsy g ANwrrsl ussilurHnbGurGsr, F55
D (HBHIsuSHs0 £ g pley GlunHI WHSeTTsD By siTLL 6T ‘Lsnreui (WmBSHIeur) sTeirm
ImpssLulLTT. fev yawHser usmiwrHPlwlsT s all(HdFH e LTS F
fl55 WHSHMS5H60 Seuawh GlFausslearTi. SehenFullsd FHSwmlerTi. wHHsT
3| UEHTLI ‘UeiTiy ST &TaaT TS Gl$TL_BISlsoTTT. LshHTen L5 EALT
RTeUSmeTElILOTD SIpEH DM, FBFS allSFWT WHTHENT FRSWD TETEID
SMLmMLU 2 (HeuThsl, Hwg 6lFrhss GFwallGoGw sulflns wTBTHSST
BLSSeTTi. DsnarsIbslil eraisd BLBES BenF WITHTHSERSHSHWL OlFsrm
2 _sprwrHylerTi. gsumenw B)enFS5501p5 6% Ty 6T FISTID 'HHOWTILOTS FTSHTLD .
TpUSCETTam (h&sT suTlphsl SUpsHS GlsTam®h GFissut g Uilrsmbd usTy ST

Sub questions

Question Number : 56 Question Id : 4771873269 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 LrsTD usiTy ST sTeusuTry GurHm’ L Ti?
Options :

sUliflens @) IWESHSH 6T STHST
1. ¢

SUOPSSTEST
2. %

FUlflens (31155560 2 svITemTsiT
3. %

50flons Gusssds spms
4, %

Question Number : 57 Question Id : 4771873270 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



g Ulrsmb usary st Upss @)L Lb

Options :

Bai B\ 60
1. %

FTLDUsUT UL _HamT
2. %

HomF
- Sioho

EAlUEES
4. %

Question Number : 58 Question Id : 4771873271 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 UlTSTD Uiy ST SlewmHEss0e0 60 g Dol Lismt

Options :

LsmBLILIL & Hem s Ehi
1. ®

PLUGBT
2. %

g Frlwt
3. %

2_1pay
4.9

Question Number : 59 Question Id : 4771873272 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 UITSTD LTy ST sUTIDHS -, &7 (HFH6iT

Options :
L% 1
72

2.¢



61

81

Question Number : 60 Question Id : 4771873273 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
& (HEMTT LT &% FTHTLD SUlpS G5 TaTiy 6T F%TID

Options :

BTL_&dh

Blemss

3 wsb

s

4. &

Language II English
Section Id : 477187108
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187171

Question Shuffling Allowed : Yes



Question Id : 4771873274 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The International Space Station {:ISS:} iz a multinational initiative and the
largest single structure ever constructed by humans in space. Its main
construction was finished between 1998 and 2011, though it has continued to
evolve with new missions and experiments. The ISS has been continuously
occupled since November 2, 2000.

Rather than being owned by one country, the ISS operates as a
collaborative program involving Europe, the United States of America, Russia.
Canada, and Japan, as noted by the European Space Agency (ESA). The cost of
operating the station is approximately $3 billion annually for NASA, which
represents about one-third of its human spaceflight budget. according to the
agency's Office of the Inspector General

As of May 2022, 258 people from 20 different nations have visited the ISS.
The United States of America with 158 individuals and Russia with 54
individuals are the leading contributors. Astronauts and research time on the
space statlon 1s allocated to different space agencies based on their financial and
other respurce contributions, such as modules or robotic systems.

Sub questions

Question Number : 61 Question Id : 4771873275 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Astronauts and research time on the space station are assigned to varipus

space agencies based on the following contribution.

Options :

soclal service-related
1.

environmental
2.

finanecial and other resources
3. ¢



educatignal

Question Number : 62 Question Id : 4771873276 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ISS has maintained a continupus human presence since the year

Options :

| = 2022

v 2000
1998

3. %

\ 2011

Question Number : 63 Question Id : 4771873277 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about the International Space Station (ISS).
Options :
It i1z a multinational initiative and the smallest single structure ever
constructed by humans in space.
1. %
It 15 a multinational initiative and the largest single structure ever

constructed by humans in pcean.
2. %

It 15 a multinational initiative and the largest single structure ever

constructed by humans in space.

It 1s only NASA's initiative and the largest single structure ever

constructed by humans mn space.



Question Number : 64 Question Id : 4771873278 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, this country has sent more astronauts to the ISS.

Options :

France
1. %
Russia
2. ®
Japan
3. % P
The United States of America
4.

Question Number : 65 Question Id : 4771873279 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the European Space Agency (ESA), the ISS operates as a collaborative

program of the following.
Options :

Europe, the United States of America, Russia, Canada, and Japan
1.«

Europe. the United States of America. Russia, India, and Japan
2. ®

Europe. the United States of America. Germany. Canada. and Japan

Europe. the United States of America. Russia, China and Japan

4. %
Sub-Section Number : 2
Sub-Section Id : 477187172

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771873280 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
brought books to the library to study together.

Choose the correct option to complete the sentence.
Options :
They, there

1. %

There, their
2. %

Their, they
3. %

They, their
4.

Question Number : 67 Question Id : 4771873281 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following two sentences.
Sentence A: She came here to studying at the college.
Sentence B: She came here to study at the college.
Choose the correct option.

Options :

Only the sentence A 1s correct.

Only the sentence B is correct.
2.

The sentences A and B are correct.

The sentences A and B are incorrect.



Question Number : 68 Question Id : 4771873282 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passenger runs to catch the train.

Choose the option to complete the sentence.

Options :

% fastly
quick

2. #

3 @ quickly
slow

4. %

Question Number : 69 Question Id : 4771873283 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The minister the prizes to the winners at the end of the function.

Complete the sentence with correct option.

Options :

gave away
1. ¢

gave up
2. %

glve up
3. %

ave back
4% B



Question Number : 70 Question Id : 4771873284 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sharath will not obey you. Talk to him politely.
Combine the two sentences.

Options :

Sharath will not obey you unless you talked to him politely.
1. %

Sharath will not obey vou unless you don't talk to him politely.
2. %

Sharath will obey vou unless you tallk to him politely.
3. %

Sharath will not obey yvou unless you talk to him politely.
4. ¢

Question Number : 71 Question Id : 4771873285 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My brother was driving the car.

Choose the passive voice sentence for the given sentence.

Options :

The car was been driven by my brother.

1. #

The car was being driven by my brother.
2.

The car was driven by my brother.
3. %

The car had been driven by my brother.
4. %

: Yes Display Question

: Yes Display Question



Question Number : 72 Question Id : 4771873286 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend, ‘Please lend me your cycle.’
Change the sentence into indirect speech.

Options :

I requested my friend to lend him his eycle.

1. %
I requested my friend to lend me your cycle.
2. %
s I requested my friend to lend me his cycle.
. My friend requested me to lend his cycle.
4.

Question Number : 73 Question Id : 4771873287 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He offers abundant evidence that he is right.
Identify the meaning of the word ‘abundant’.

Options :

ample
1.

meagre
2. ®

minimal
3. %

acant



Question Number : 74 Question Id : 4771873288 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
His knowledge of history 1s profound.

Identify the opposite meaning of the word ‘profound’.

Options :

| % sincere
scholarly

2. ®

_ erudite
superficial

4,

Question Number : 75 Question Id : 4771873289 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The study of birds is called

Options :

anthropology.
1. %

ornithology.
2. ¢
3 % zoology.

mythology.
4. %



Question Number : 76 Question Id : 4771873290 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom “a dark horse’.

Options :

A wild animal

1. %

A black horse
2. ®

An unknown entry
3.

A front runner
4.%

Question Number : 77 Question Id : 4771873291 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify INCORRECTLY spelt word.

Options :

privilege
1. ®

maintenence
2.9

exclamatory
3.8

colleague

4, %



Question Number : 78 Question Id : 4771873292 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify meaningful sentence.

Options :
Conversion of agriculture into forests land is weakening India’s monsoon.

1. #

Conversion of forests into monsoon land iz weakening India’s agriculture.
2. ®

Conversion of monsoons into agriculture land is weakening India’s forests.

Conversion of forests into agriculture land is weakening India’s monsoon.
4. <

Question Number : 79 Question Id : 4771873293 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining heavily yesterday. ?
Choose the correct option to complete the sentence.
Options :

wasn't it

1.

18n't it
2. %

s 1t
3. %

was 1t



Question Number : 80 Question Id : 4771873294 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

When no one came  to help him, he herself picked the bag.

A B C D

Options :

Question Number : 81 Question Id : 4771873295 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

Options :

All the five man’s were very energetic and eager to perform their duty.
1. ®

All the five men were very energetic and eager to perform their duty.
2.

All the five mens were very energetic and eager to perform their duty.

All the five men was very energetic and eager to performed their duty.



Question Number : 82 Question Id : 4771873296 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arrange the options to make a meaningful sentence.
P:In every country. people often

Q:the best and the most intelligent.

R:as less capable or inferior in comparison.

S:while viewing people from other countries
T:believe that theyv themselves are

Choose the correct option.

Options :

2.

3.

4.

P.Q.T.R.S

P.T.Q.S. R
'y

PR Q. T.8
®

P.T.R.Q.S

®

: MCQ Option Shuffling : Yes Display Question



Question Number : 83 Question Id : 4771873297 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the option that uses the article ‘the’ INCORRECTLY.

Options :

He was the first man to arrive.

) The wisdom is the gift of heaven.

The rose is the sweetest of all flowers.
3. %

The darkest cloud has a silver lining.
4. %

Question Number : 84 Question Id : 4771873298 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She her camera on the sofa.

Complete the sentence with correct option.

Options :

laid
1.



Question Number : 85 Question Id : 4771873299 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

An interactive communication between two or more people 1sa/an
peop ;

Options :

story.
1. %

conversatlon.

2.
essay
3. % :
apeech.
% 0

Question Number : 86 Question Id : 4771873300 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best known advocate of “Spiral Curriculum’ is

Options :
Bruner

1.

Noam Chomsky
2. %

Antony EM

Brendan J. Carroll



Question Number : 87 Question Id : 4771873301 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a primary school classroom. an English teacher should create an environment
that is

Options :

focused on writing and giving home assignments.

1. ®
strict and following formal methods of teaching.
2. ®
stimulating, inclusive, and focused on student participation.
3. ¢
teaching and learning that relies solely on the textbook.
4. %

Question Number : 88 Question Id : 4771873302 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following theme 1s inappropriate for the English mstruction at the primary
level.

Options :

Friendship and Kindnesa

1.

Sports and Games
2.

Home and School
3.

World Heritage and Culture



Question Number : 89 Question Id : 4771873303 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching the skill of speaking is to

Options :

memorize the vocabulary and reproduce.
1. ®

express oneself intelligibly. reasonably and accurately.
2.

assist learners in writing without making grammatical errors.
3. %

develop reading skills through speaking activities.
4. %

Question Number : 90 Question Id : 4771873304 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about language learning.

Statement A: Language learning needs tolerance on the part of the teacher.
Statement B: Mistakes are natural and inevitable part of the learning
process.

Choose the correct option.
Options :

Only the statement A 1s correct.

1. %

Only the statement B 1z correct.
2. ®

The statements A and B are correct.
3.9

The statements A and B are incorrect.
4. %

Mathematics



Section Id : 477187109

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187173
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 4771873305 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rational form of 3.7 is
3.7 eir ail &5 1pm) sulgsulb
Options :

37

100

37
w 99

34
99



Question Number : 92 Question Id : 4771873306 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

[(=3) X (=) X (=5) X (=6) X (=7)] =

Options :
—2520
1.
152
2. % 222
—1260
3. %
1260
4, ®

Question Number : 93 Question Id : 4771873307 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The population of a town 1s 108090. Out of which 29040 are men and 28105

are women and the remaining are children. Then the number of children is

2(H bHTSF T wEssT clsTems 108090. gl 29040 Gui- =y swssir wHMILD
28105 Guir BlusirssT wHDID WHLD 2 §TETTT (& LHmSH6T 6Tl 60
(& LpTH 6 & S 6IT 61T STEHT 6301| h6M 5.

Options :

50845

4.



Question Number : 94 Question Id : 4771873308 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The marks got by a student in 4 subjects In an examination are 228. If the
average marks of 3 subjects 1s 56. then how many marks did the student get in
the fourth subject?

(H WwTswrausit spf Gatallst 4 urLmisafls GluHD WG UsBTSsT 228. 3

LITL BIS(eH&ESTeT FTTFT] g6 LsmssT D6 sTarflsh BTeTsTsug) LUTL & FlsD

Gunm A6 LT ST ?

Options :



Question Number : 95 Question Id : 4771873309 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following fractions is least?

Lilsireu (fLb LilsiTsormissmsit Fplwgl stH?

Options :
98
100
1. %
23
25
2. %
10
11
3.¢
57
59



Question Number : 96 Question Id : 4771873310 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If each =ide of a triangle is %I‘d of its perimeter. then type of the triangle 1s
2 (PpSCHTemTS I 6T spsi Gloum (| LSS IPLD 9 ST FHDsTailsd éugﬁu sTent 50
23] eTelausmS (1pSGHTenTLD.
Options :
Isoaceles
B pFUES (1pdhSs TemTLD

1. #®

Equilateral

FIOLI&GS (LpdB5 Temrih
2. ¢

Right angled

GlFRIGsTemT (LpdhEHTamTLD
3. %

Obtuse

allfGsremt (1pds G TemTiD



Question Number : 97 Question Id : 4771873311 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following number 1s divisible by 6?
LilsiTeu (HLb eTemTS EHaT sTH] 6 s 16 FluilssTn) sugUEL?
Options :

179184

Question Number : 98 Question Id : 4771873312 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of millimetres in 100 Kilometres is

100 AGsor S L_iflsb 2 _siramr lsba® 5L _L i H6ifsiT sTousTeml & emEH T
Options :
10°

1. ®

5 % 107

10°

3. %

108
4.



Question Number : 99 Question Id : 4771873313 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of edges in a tetrahedron 1=

P(H BTsT(pHS HlenTnSHs0 2 sirem aflsiflibsaflsr sTamrsntlSsmns
Options :

4
1. ®



Question Number : 100 Question Id : 4771873314 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A 60cm long wire is used to form following shapes. Which of them will have
shortest side?

60 GlFsirig 1f1” LT Bempsiter sbLilsmius GlsTom® o (maurssiiu @b Lisirsu

811g SUBIK GHET sTFH| (HMDHS HeTlh BlsTamL UEs5m55 BlsTarL_5 7

Options :
a square
FHITLD

1. %

an equilateral triangle

FIOUSS (LpdSHTemTiD
2. %

a regular pentagon

PIpBIE MBI GsTenTiD

a regular hexagon

PIPEIF 9| DIBIGSTenTLD
4.«



Question Number : 101 Question Id : 4771873315 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

3B8X3BX38—26X26x26
38x38+38x26+26x26

Options :

12
1.v

144

64
3. %

1728
4. %

Question Number : 102 Question Id : 4771873316 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
The ratio of the cost price and the selling price 15 8:10. The profit percent 1s
P EP I I
I L&sallsms wHnib allHusmear allsmsusstsir allflsin 8:10. steflsh F)suru
FHal HLb

Options :



Question Number : 103 Question Id : 4771873317 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s NOT correct?

LilstT 6w (Hsu saTsu 1 MIST 6TH FHIsD607

Options :
5
15 tenths = =
10
15 " . " " — E
| x L5360 spsiTmiFHsir P
3025 grams = 3 kilpgrams 25 grams
3025 Armbssr = 3 £Georalrmd 25 Frmb
2. ®
Area of a rectangle 4.5m X 0.5m = area of a square with side 15cm
4.516 x 0.5 1f gysmeyswLit FHITHSleT urLiy = 156lF. 1f LSS
P SETaYen LI FHITHIH 6T LITLIL
3.

0.016=16x 102



Question Number : 104 Question Id : 4771873318 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The place value of 0 1n 2225.106 15

2225.106-50 0~@)sir @)L

Options :
Hundreds
/T T)] & ST

1. % e
Tenths

LSF60 spsiTmismsir

2. ®
Tens
L& &I 6T
3. %
Hundredths

BIrMsd spsit i sir
4.

: MCQ Option Shuffling : Yes Display Question



Question Number : 105 Question Id : 4771873319 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
.. 1 . . . :
Ramu gave his sister = th of chocolates available with him. He gave his brother

2 .. .
= rd from the remaining and left with 48 chocolates. The number of chocolates

awvailable with Ramu at first 1s

BirTup suaTsl FCHTHMSHS Heirent|L(1psirem L6l L TS EHsT %ug@ﬁimmé&

C&ET[HSHSTET. YauaTdhl FEHTSTISE L H1psTem uﬁ'h'_:_n'u'_las@sirg (BTE%:AEOTTE:S

CaTh55 Lisity 48 sraGsvl_ssir 1 H(ipsiTerear sTarflsh rrpaill b wpHedlsh
Bmbs Clwrss FTéEGsoL (HHsT

Options :
240

360
3. %

L% 480



Question Number : 106 Question Id : 4771873320 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following numbers is divisible by 2. 3. 6 and 8?

LilsiTeu b sTemTSHEHaT aTHl 2, 3, 6 wHmMD 8 =60 suFHUEHID?
Options :

24810
1. %

34500

42316

Question Number : 107 Question Id : 4771873321 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
4 men can complete a work in 24 days. then 12 men will complete the same
work in how many days?
2(m Gausmsvsmiu 4 werf|HiHsr 24 Brisarflsv GlFilgl iy sreflsy 12

el GTH6T 9G35 Cousmsven F GIFIIFHI (1plgHH TSHNET HTL_H6T 2 FHLD?

Options :
12
1. %
2
2. %
3.% 6
8

4.



Question Number : 108 Question Id : 4771873322 Question Type
Number : Yes

Correct Marks : 1 Wrong Marks : 0

35m? is the area of

35Lf1°2 sTeiTLIZ) LilsiTsu (Hsusarsum Blsv sTH6T LITLILIsTsY?
Options :

A square having side 35m

3515 @ USFLWTS 2_ML_IU FHTLD

5 squares having side 7m each

716 @ USHLOTS 2 ML 5 FFHTHIST

35 squares having side 1m each

16 o usswTs 2 snw 35 F5Hr8ISsT
3.¢

7 squares having side 5m each

Siff 30 UEHWTS 2 L 7 FHTEIS6T

: MCQ Option Shuffling : Yes Display Question



Question Number : 109 Question Id : 4771873323 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number 3 crores 6 lakhs 4 thousands § hundred sixty-nine in numerals
can be written as
3 GaryCGuw 6 @Bsvl 55 4 o uilrss 8 ErHN HMILSH P6iTLIZI- 65T 5TITAWI(H
Options :

30604869
1.

360400869

36004869
3. %

306048069
4.%

Question Number : 110 Question Id : 4771873324 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
( 3 2 ) 3 -

Options :

274
4.



Question Number : 111 Question Id : 4771873325 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

There are 72 students in a class. If the number of boys 1s g times the number of
girls, then the number of girls 1=

sp(h suliLilsh 72 wremrsuiS6r 2 siremwei. Fmisui SHerflsiT sTeisT vl % smn S5
Fmblwrlsir sTenTentlSsmBsmiLl GLImsy E LOL_BI(F sTeulls0 FmyLblseailsir

ST 6397 6101 | & 5 F

Options :

7

[

1. %

e
LA

2.

(%]
]

40
4. %

Question Number : 112 Question Id : 4771873326 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
The number of points present on a straight line are
2(H BB GHTL 1360 & snIODBSHISTST LsiTsif|SHersiT 6Tsoramfld%hsm S

Options :

0
1. %



Question Number : 113 Question Id : 4771873327 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is an even integer when 1 iz an odd integer?
11 @ @newD WPIpsuTs F) Hd@HW Glumepg LilsTsu Heusrsum nIsT 6TH 6
@riewL apap?

Options :

bn + 8
1. %

3n®+5
2.¢

3n? + 4
3. %

4n? —5

4. %



Question Number : 114 Question Id : 4771873328 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If sum of prime numbers less than 25 1s A and mean of odd numbers less than
. A
101z B, then — =
B
25 @ sl & HewpsuTsT LST sTenTHsi s FfFs A wHmid 10 2 afl & FArflw
A
spmenm sTenraerisT Frrsi B, stesflsh = STEITLIZ] =
Options :

20
1. ¢

18
4. %



Question Number : 115 Question Id : 4771873329 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the nature of mathematics?
LilsiTsu (HeusiTsuD MIsT 6TH SewisS e B wsvLilemend FApriurs ailsurlsAnag?

Options :

It involves abstract thinking and logical reasoning.

B sl w0 FhSenaT WHIID $T5HFH FHILTAT FTTTSHMS 2 _6T6TL_SH LR
1.

It 1s limited to solving routine classroom problems.

SU LSS OTEIT 6UGLILISNNS %607 FHBEHdBE WL (HLD ST 6y &Tsmr

W HUu ) $5i0
2. %

It is exclusively concerned with prineiples.

Az woHolab SE5HuB%EGsrTH W HGW BlSTLiymLwsg).
3. %

It 15 a language used only 1n art and engineering.

g FOW wHnih Glurpuiluedlsh vwsTu@RSSLILHID @ Gy
4.



Question Number : 116 Question Id : 4771873330 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a child is consistently struggling to count beyond 20. what should a primary
mathematics teacher do first?

2 GHphms 20-5@ Gosh sTomansugls FArwh gemL_F DS sTallsd sp(H
BT 55 Blemsy Hewfls o, ATlwi upsedlsh GlFiiw Gausirig wg).

Options :
Doing challenging addition problems.

FNM)] H1YGTLDTET Fn L L 60 &6WTdh () HM 6T G}&u'_imﬂ;_'ﬁgsh
1. %

Reciting the numbers.
STEMTH WS LaTaTlh GlFiliailsH60.
2. %
Conduct of daily testa.

GOl F T ey ar F (ol FlUIH0
glersil Gaiey sTpssF CFiis
3.$

Strengthening counting skills by utilizing concrete objects.

S0 GlUTHLHensrs GETH S TOHTaWIF60 HMemar ausiliL(h)SHIH60
4.



Question Number : 117 Question Id : 4771873331 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A rubnrie 1s:
rubric sTsTLIZ):
Options :
A standardized test prepared by the experts.

BIsmTTSerTsd) 2 (HeuTssUUL L sp(F SrOubhssiiul L Gsisy

1. %
A multiplhication and division trick to answer within seconds.
Ty OeluTpSlsd aflenLweflsGhn U HES0L WHNID H5550 WHDH.
2. ®
A scoring guide that provides eriteria for assessment.
o SjeTal L1y DHTEIT Fn M) HMeTSH F(FHLD SewTdh S L 19 DSTeT sulflsTi g Guwih)
3.

A graphing tool to solve algebraic equations and algebraic problems.

Bunsenils FwaTUTHEsT wHNIb BGunSanlss &emdHEEhdEHS ST 6y
SHTEMILD 52 (h UsMTLIL & asg.yaﬂ
4. %



Question Number : 118 Question Id : 4771873332 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the features of mathematies listed in A with their corresponding actions

in B.:

A wilsyisirer sewfl 55 F 1 B)wsvysemsr B-sv 2_sirer Flwrsr GlFwsy L s

CluTHSHI%
A
A)  Creativity i)
UsmL_CILImmhHmsy
B) Analytical Thinking 11)

UGSSD] Fbgems

C} Communication iii}

CaTLIY U SHISHD

D)  Conceptual Understanding  iv)

HHSSH! T H6D

Choose the correct answer
Fsriwrar aflsnLsnwsd Cxih0lsHES
Options :

A-1, B, C-m. D-1

1. %

A-m. B-1 C-11, D-1v
2. %

A-ni, B-1, C-iv, D-11
3.¢

A-iv, B-1, C-iii, D-n
4.%

B
Breaks down problems logically
HTH5 THIWTSH 56T 55H 6T
(UrFssnarsmsnsr)l L 560

In-depth content knowledge

9 IplTeT LML UGLIT ST 2 mlay

Use innovative methods

LJ36m LD IWITET 6110 (LpsDD & sm6TLl
UwsTUH S5 H60
Explaining mathematical ideas

H6W|3 FbSNETHENST 61l 6T (3 B 6



Question Number : 119 Question Id : 4771873333 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The instructional objectives are:

S DeYNIS50 CHTHSLD 6TeTLIF:
Options :
More related to classroom teaching.
v suGLLNDE SHNEOTH 9F5 GSTL T s g
Achievable in the long term.

BTl STeOIGUTHH) SYenL_ s Fnlg WS

More abstract.

. Wl &F & (B S0 TSI
3.

Not measurable.

Sjeraill 1p TS5
4. %



Question Number : 120 Question Id : 4771873334 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher asks students to guess, 'If a square piece of paper is cut diagonally,
what shapes will be formed?"

P(H Y FTILT WTemTeuT HeTL LD HemilEsF GlFTaSIDTT, @(f FHITSH HIs0T([H
HTHSHFenam cpsns sl L 1D sulflirs Glsul’ Hsusrs & 6lsreirLmsb

2 (HEUTHLD 611g SUBIHAIT 6TEITEIT 7

A) Two rectangles

35 ClFsuanisBIHsT
B) Two circles

B)m suL_L_Bigsir
C) Two triangles

B)(m (kG s memrhISsir
D) One triangle

P (W (LpHSHTeWTLD

This question relates to this academic standard.

Peuallsrraurarg @bs sdalls srplmamus sy uhsas DS

Options :
Connections
(3) smemr S S50
1. %

Visualisation

STU_FUIU[HS5H1550

2.

3.

4.

Problem solving

UrFssmarsishsFs $1ey STamHe
S

Reasoning and proof

UGS5D50 wHDID BlepLilssed



Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Environmental Studies
477187110
5
Online
Mandatory
30
30
30
0
1
477187174
Yes



Question Number : 121 Question Id : 4771873335 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Plants can be classified into the following categories
STaurmiSsnsrll Lilsiteu b Lilflsysaflsh susnasliubBSHe0mib.

A) herbs

eLpsllem & & 6
B) shrubs

LSBT HeaiT
C) trees

LD [Tl FH6IT

CllGOSE‘ the cOorrect answer

sriwret sdlenL_sniwws Co51H65H55

Options :

A & B only

A & B w_@pib
1. ®

B & C only

B & C wr_@puw
2. %

A&k C @1113:
A& C ol @

AB&C
4.



Question Number : 122 Question Id : 4771873336 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks :
Riya often peels vegetables hke carrots and cucumbers before cooking. Her
teacher advised her to use them with the peel whenever possible, as it helps
improve digestion. The food component in the peel that is likely the reason for
thiz advice 1a:

T Gsri wHnib GlsustarflEsmil GuTsiTD STIISHHmeTF FaNWOILSDH &
(psit GHmemsy 2 TLILITST. 9jsuehsn i 2 FMwi Fsunsn Ll LU6TL (S HID
Curg GsrGsor® LwsTuBRSFHIbLIY o DisynibHlemTi. sTblsareflsd 5

Hromrsms GuibuhiSsib. FHs P YDIFS505HS CoTelsd) 3)HSGW0 sTHS
&Eﬂrmﬁ.ﬁ_g asrru’emrmn'@m.

Options :

Protein
UTSF 5551
1. #
Fiber
BT FFHHI
2.
Fat

GlsTIpIYyF FH5

Vitamin

smeul_ L LO)siT



Question Number : 123 Question Id : 4771873337 Question Type : MCQ Option Shuffling
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the correct statement about hermaphroditism
A mwursflspwl upPw FHWTST FoDHewDS SewTL_1)5.
Options :
Hermaphrodites can only reproduce asexually.

@ mursflssit ursnallaor psoppuilsh w HGw @arii6lLmHssD

GlFIwIpig ujib
1. %
All amimals are hermaphrodites by nature.
sTsLsUT allevmIHEBEHL FwstursGeu &) mursdlssi.
2. ®
Hermaphrodites possess both male and female reproductive organs.
@) mursflssit g anr wHMID GlusiT FarliblumeEs 2 il ser
@) renremL_wjLb )% e (HsiTSTeIT.
3.9

Hermaphroditism oceurs only in plants.

L% @B mursdssr sTaurBISats) WL (HGL 2 sTemer.

: Yes Display Question



Question Number : 124 Question Id : 4771873338 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary purpose of rearing the Kangayam bullock 1s:
HTERIGHIULD STenaTHNaT U LI ST (LpSeiTeniliTsr GHrssLb:
Options :

Racing
PL L LUbBHuwib
1. %
Milk production

5 % UTe 2 HUSS]

Drought work

3 @ sUDL_F LI Liswi|%siT

Wool production

siouaf wulli 2 Huss)
4. %



Question Number : 125 Question Id : 4771873339 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the device, commonly used i1n industrial chimneys to reduce air

pollution by removing particulate matter from flue gases. from the following
ysm&wilsd mB51 au(RLD p(F alls STHNI WTeNFS FMDLULSDETHSD
CarfinFremesatlsy GluTrgisursl uwsitu®Sslu b Fibaflsaflsh o sirsr
& (medlsmiiLs Lilsitsu (fsusirsuHn)led {51 STl 1.
Options :
(Gas turbine
suri aflsnFriGlumrl
1. %
Electrostatic precipitator
” BlsmsvLblsiTeatsh sflp Lilgsurss)
2.
Heat exchanger
Glsurind uflwrnh !
3. ®
Elast furnace

4% Glaulius sTHmIsnsy



Question Number : 126 Question Id : 4771873340 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Testing for the presence of starch in a food item should be done on:
i 2_swreyliBlurmeflsy wrsylblur s (svLri#) G muusnss ST Db
CrrasnareniuF G\FIlsSTausl:

A) Cooked food

FemiDSS5 2 smredlsd

B) Raw food

UFHFWTET (FeMWSSLILL TH) 2 swTayl GlLIT(Harsd

ChODSE‘ the correct answer

sriwrsT allsnLsnws CHTH05 0SS

Options :
A Onl}f

% A il Hib

B only

B 11" (Hib

Both A& B
3.¢

Neither A nor B

A b @svsmev B wyib @)svsmev



Question Number : 127 Question Id : 4771873341 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of ribs present on each side of the human chest

wenfls wrTLlsT @) reimh ussnissaisb o sirsr allsuT sTalbL]H e siT

6T 6337 5T | M F
Options :
13 ribs
13 alsor sTepibyHsir
1. %
12 ribs
12 alsur sTeRIbLyH6iT
2.¢
11 ribs

11 aflsoT sTaRIbLyS6T

10 rbs

10 ailsur sTepIbLyHs6iT



Question Number : 128 Question Id : 4771873342 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The balance of oxygen and carbon dioxide in the atmosphere i1s maintained
through:

S T I LD6BITL_605F60 2 Sondlg06iT oM MILD & T LISHT-61 -9, SeMFIg 6T FID 2sTen6UH

SLHuubhSsIug):
A) Respiration — Plants

FAUTFSH60 — BT 6UTHISH6T
B) Photosynthesis — Plants
el FECFTHemS — FToUTHISH6T
C) Photosynthesis — Animals
el FECFTHamE — allsUBI 5B 60T
Choose the correct answer

shiwrer aflsnL_snwsd CaiH0sMHES
Options :

A & Bonly

A& B w b
1. ¢

B &' C 01113'
B & C wi @b

A & C 0111;'
A& C ol mib

L% AB&C



Question Number : 129 Question Id : 4771873343 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following declared a ‘no drive zone within a 2.5 km radius of the
Taj Mahal?

% psuHeusraunmlsy sTgl TR waTe0sfFHE 2.9 H.16 FHMareyd GlsTemsvaisd
susiTly L (Qeusnss sailfss Gausmig i LGS st g plal$55.

Options :
Archaeological Survey of India

BbSIw Gl LIT(HST 2y a5 Henn

1. ¢
(Central Pollution Control Board
WSS wrHESS._HUUTL B &b
2. ®
Supreme Court of India
@AnFlwurallsr 2 FF B3 wsTpib
3. %

Ministry of Environment, Forest and Climate Change

@S o rFsT FHNIFGHLWD, susaTh WHNID STEOH N WTHD
9| 60 LDFFHLD
4.%



Question Number : 130 Question Id : 4771873344 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What fraction of the Earth's fresh water is available in the form of ice and

snow?
Lhwsd @) mé@Hn Bilsd usiidsl 1y wnHmb usilullsr Llsrer osmsy?

Options :

1

10
1. #®

W | =

o |

3. %

L

4.9



Question Number : 131 Question Id : 4771873345 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding renewable and non-renewable energy

S0Urces.

YgUll$s555% wHnib yFulilss @lwusors stiiFss] cpsosissnsmis Lm il

FOIWTET FnDEMDS HITL D)5,

Options :

1. ®

2. %

Renewable energy sources are always more efficient than
non-renewable sources In energy conversion.

Yallss5555 eTilFss) apsob stuGUTrgIGw yaxulss Busars
sTiiF&glemit allL sTllFsSlsniw wrHpisuglsy Fpliurers).

Non-renewable energy sources are infinite and can be replenished
naturally within a short time span.

Yzpitilss @wsors sTflF55] fpsold BlsnDIL 2 siTam$msd (FHmnis
sTe055 GCsuGw wnl BTl H GlFilusorb

Both renewable and non-renewable energy sources emit equal levels of
greenhouse gases during energy production.

sTflFsg] swrfs o Curg yHullss5555 sTilFss) wHnib YHuLilss
Bweors sTilFss) G ramHGw sllFwwrar gyerailsy usenw Fsvsor
surismey GleustGwmmI#lsiTmsi..

Renewable energy sources include solar, wind. and geothermal. while
non-renewable spurces include coal. oil. and natural gas.
yaitllss555% eTilFss), @i, sthn wHnib yeaf Glsuliub GFrhssl,
yauilss Gwsors stiiFss Blsuds T, starblennil whHnib B wnsns
sur] GFib535I



Question Number : 132 Question Id : 4771873346 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following food 1tems help in increasing the quantity of blood in
the human body?
LilsiTsu L 2_smreyll GlLIT(HL SHermlsh 6THS spsiTm Wswls 2 L sblsvisirer &) rd5E5 5 sir
Sersnen B SOUGHS515 D517
Options :
Chips, soda. and white bread

Fus, GFrm, Glsusiremsr Glrmiiy
1. #

Peanut bar, gingelly bar (Til), and eggs

HL_6meV WO L_mill, sTeirsih, @)ep# WL mi wHmib 1pLsnL_ssir
2.

Pickles, fried snacks, and candy

parm)|& Till, GIUTISS FleTUMTL LD WwHMID WL Tl
3.8

Instant noodles. coffee. and sugary drinks

2 L ey Hr(psvsiv, STl bHMID FTESMT SUBSF (&L LITSITLD.
4. %



Question Number : 133 Question Id : 4771873347 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1565, the five Bahamani Kingdoms joined together and defeated this
Vijayanagara ruler at Rakkasi Tangadi war

1565-@)sv rrasrTd smisTy GuUTTlsy BH USTWET (IplgIITHSEHL PaTIN
Cripgy allFwupsmr ayamL F)H5 L FwursrsnTs CHTHS 135S

Options :

Achyuta Raya

oL FFTwuT rrwuT

1. %
Aliva Rama Raya
gefll FTLT Frr
2.
Venkatapati Raya
GaumisL L rruT
3. %

Saluva Narasimha Raya

FoVI6Y HIFILDS Trim
4. %



Question Number : 134 Question Id : 4771873348 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following principal followers of Jainism. the Rashtrakuta rulers
were
LilsiTouHausiTau (Hsir  (PSSHTeMILIITS FOMTLOFHNSHL UlsTUDHDID  TTeidly Tom L
5| a6

Options :

Chandra Gupta IT and Udayana

shTpusT 1L wpnib o swerT

Kharavela and Samprathi

srrelsusuT wHNID rFEOUrGsurblsy

Hamundaraya and Kharavela

3 % ADPHSMIIIT LHIID FTEas0T
Amoghavarsha and Krishna IV
2Gursfagr wHNIL $megsmr IV

4.



Question Number : 135 Question Id : 4771873349 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1956, the number of States and Union Territoriez created by the States

Reorganisation Commission

1956-3)s0 wrEplsy LNIFTMLIL S MMTISST6D 2 (HauTHSOUL L WOTHSVW WwHmILb

WL, 63T IISHT LI (3B H6I1 60T 6T 6507 500116 61
Options :

14 states and 6 Union Territories

14 wrplsviissr wHnID 6 WeTwsT UGSl SsT
1. ¥

28 States and 9 Union Territories

28 wrplevmissr wHmIb 9 wys st LGS ssir

18 States and 7 Union Territories

. 18 wrplsvBissT wWHMID 7 WyesTWsT L% ST
3.

20 States and 8 Union Territories

. 29 wrplsuBiIssT wHHID 8 wysrlwsir U@ Sl ssir
4.



Question Number : 136 Question Id : 4771873350 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the Prime Minister of India between 1989 and
1991

1989 1wz 1991susnr Llsireu |Husumsit spmsui @B wi Lrswrrs @) mssaisvems
Options :

LK Gujral

2.C%.Hzrmsd

Deve Gowda

Caeu Glssrm
2. ®

Vishwanath Prathap Singh

aflsvsuprs Ursro fm
3. %

Morarji Dezai

Lo Gurrred CaFmil



Question Number : 137 Question Id : 4771873351 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is the aim of 4294 constitutional amendment of the Indian
Constitution
LilsiTeupsusirsupmisit spsitmy @ BSIW 2 rFiwsosnliydF FUL 55T 429310
Y rAwmliys FH555IT 2m GlsGamTsr
Options :
Making the Judiciary subservient to Parliament

B 3% F160Dem WL UTTTEHLOST DS N &HF CFameu GFinud GlFiiss
1. v

Enactment of the Official Language Act
S TFwmlYF FUL Sm5 Fwnmnissd
2. %

Bringing Education Under Fundamental Rights

. sevallsnit gyt 2 fsnwuilst £1p 6% rsir(Hsu [0
3.

Strengthening the State Government vis a vis the Central Government

WSS B TENFULD WOTHY B TenFWD @UYESHTEAIN LsoliubhSHHsb.



Question Number : 138 Question Id : 4771873352 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi 1s travelling from New York to New Delhi by Aeroplane. Then Rawn

rail Bl wrtsAledl{Ha Ysligsslls @ allibrarsglsd LswlsSnri ubluripsl

Options :
loses time of 4 minutes as he crosses every longitude

psublauTh $T55 Gramssnius sL&FHL0 CUTHID 4 Bl 0L Bissnear

L B wasaAlpmi

gains time of 4 minutes as he crosses every longitude

psubleuTh STH5 Crawsanius sL&FHwh Curgib 4 Bl s ssir

9 Fswrsl Qupdnrt

neither gains nor loses the time

ETe0SmS5 Bwssab Flsvsma m(fFsorsll Glupsyh F)svsmsy
3. %

almost loses 24 hours by the time he reaches New Delhi
Sysut Yz soeflenwF GlFsitnem b GuTs sTmdFsmnw 24 wewf]
Crriams Fubsmi



Question Number : 139 Question Id : 4771873353 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

These mountain ranges form the eastern edges of the Deccan Plateau
Hhamenr LT puflullsir £ipss @ aflsfliblledlpHa1 sumh FHs wemevd6lsrLissr
Options :
The Satpura Range
. FHUTT LDeM60 56 HTL %6l
1.
The Mahadev, the Kaimur range and a portion of Maikal Range
WwsTEHsu, sflSepT GIFTLTH6T LHNILD sHinHsD BISTL T ph LGHI
2.
Western Ghats

Cun@ wensvHolSTLTH6T
3. %

Nilagiri Mountain Ranges

L% B VST en6eVs 6% TLiT & 6T



Question Number : 140 Question Id : 4771873354 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India. the major tea producing region among the following is
Uilsitsu meussrsupmisit @ bFwrallsh gslswrss Csullsnsw 2 puss! Bleliuyb
UG
Options :
The hilly regions of Assam
L 2 FTLOSSTET DM EILILIFHD]
The Baba Budan Hilly Region

LITUT LL$6IT ensvliL $3]

The Nilgiris in Karnataka, Kerala and Tamil Nadu

STHTLST, GHrerT wHNID SO BT 1gs6TsT BevSATI LSl Her.

3. %

The Andaman and Nicobar Region

9 bHWTT BEEHETUTT LG HlSs6r
4.%

: Yes Display Question



Question Number : 141 Question Id : 4771873355 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main objective of Integrated Watershed Management Programme in
drought Prone Areas is to

Abslwralsh supl FAwrsd urTHesOUL sumbliysiter UGHFWilsh 9 mHBISlmanTHS
BT susr Gusorsimening FL ST 1psFw HDlSCHTsiT

Options :

Strengthen the community and enable them to plan for proper
utilization of natural respurces

FLpSTILSMSL UsVOLRSFHIS6D LHMID BsutHsT @) ILDHens 6 6TE Snars
Filsur UWsiTURSSHIMMEHSF FIL_L LA HFHs0

1.
Provide water to drought prone areas continuously
supl_Fwmsh UTHSSUIUL suTILILsTsT LUFS SehdEHs blsTLTFFurs
B allpBiGSe

2. %

Undertake plantation in large scale

3 % Glurlw gsrailst LuilflHssh sTHmIE BlETsiTamsd

Encourage the farmers to undertake community farming
FupsTIL allsuFTiussns allsuFrilsaflib sudHalssab sthHm

BLS3IHEID
4. %



Question Number : 142 Question Id : 4771873356 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Bhakta Prahalada, the first talkie movie which was released m 1931 was
produced by
1931 @b Geuafluiliou’ L. wuss drsersr steirm  pHsoTsuzyl GuEHb
UL gmss SUTAESAT
Options :

Raghupathi Venkaiah Naidu

THUS Glausisns HTyH

Edida Nageswara Rao

STI3ST HTEHeUT TTsl

Hanumappa Muniappa Reddy

ansyIiIUT @petiwiur Gyt ig
3.¢¥

M.V.Raghu

sTiD.&\l. Bl

4. %



Question Number : 143 Question Id : 4771873357 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
To spread awareness among daliths by using Popular Folk Arts, Bhagya Reddy
Varma started

H60l5 wasaflsnL_Gw Yspelunp GrBuym B SsmessT D55
sl smriensull Urligsusn@U uTSWT Glriig sufwr GlsTLBISlwg.

Options :

Adi Hindu Society

Uy BB FLPSTIWLD

1. %
Jagan Mitra Mandalh
26T WGTT WweirL_sfl
2.
Satya Shodak Samaj
FHWT GaarL & FOTH
3. %

Sharada Sadan

FITHT FHTaHT



Question Number : 144 Question Id : 4771873358 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

This amendment made to the Indian Constitution says that “the state shall
provide free and compulsory Education to all children between the ages 6 and 14
years

wrplsssT 6 pHs 14 snwFnHFlenL_Guwsiter sTsLUTS (L0065 H S S EHS (HLD
Bevauss UL TS SHevall GlsTHSS Gouam(Hib sTeiTm HTFILssmIoLILF FLU_L 53167

Bb3s FHSSD IS DSI.

Options :

61% Amendment

61-gb /S50

1. %
4274 Amendment
42-2g41b FHSSHL0
2. ®
$6th Amendment
86 -941b SlHGHI0
3.9

1027 Amendment

102-gb Flms50
4. %



Question Number : 145 Question Id : 4771873359 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During a science lesson, Ms. Patel asks her students to work in small groupe to
conduct an experiment and discuss their observations. Which type of learning
Interaction is primarily being emphasized in this activity?

g Daflwsd ure sugllsb Fpuwg) ul GLsb wrentsutsaflib @m ANl FHupsurs

iBg 9w uflGsFTamarsnudg LGFils HH GDS5H SULZHTLTL S
Csl(hé Basrsrdinrt. @)bsF GlFwsbLTL 1360 sTHESMEIW SHMsL F)swL_ailsner

pSTemIoWTS susfliymissLLBH 3 nH?
Options :
Student—Content Interaction

Wwremrsu—UTL OU@E S @)snL_ailsnsr
1. %

Student—Teacher Interaction

wrenTsui—2a FATwi F)snLailsner
2. ®

Student—Student Interaction

Lo TemTeuT—LomemTsui (F)smL_ailsner
3.¢

Teacher—Content Interaction

g Afwir—urL LuE s B)snLallsner
4. %



Question Number : 146 Question Id : 4771873360 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is least relevant when evaluating the effectiveness of a
science period plan at the primary level?

GlsTL$5 plamsoulsy, gplallwsy urL Gsusnsrs I L FmsF GlFwsvallsnarsy
S rusnLuilsd wAOGLGuTsl, Lilsrs meuaTaunnisT sTensl WSS (F6m D6u Tar

CIUTHSS(IpsTeTSTS BsHIDLD?
Options :
Motivation of students in the teaching-learning process

DML — FSPLIGF60 GlFWsOLITHH6TE WTemToUT Hemer 29w & 6llSHs0
1. %

Clarity in explaining the content
uTL L UG Sswi aflard@Hagls Glgef sy

2. %

Effectiveness of assessment methods

wH T B wpspmSsiisit GlFwsy ailsnsmsy
3. %

Teacher's dress code

g ATwissflsr g enL a5 wpsnn
4.



Question Number : 147 Question Id : 4771873361 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An EVS teacher. Kalpana, always encourages her students to decide the final

result not with a single observation, but after making several observations.

This 1z ealled:

ssvuerm stsity EVS g fAflsmw stO1Glumupgn wpiy Gleuhs @ Gurg)
A miF iy sy siTen D WL (HID SeuaTHHls) GlETenT(h sTHISHTLOE LisDsum) sm MmN
HoUsTSH S0 BlSTam(h) sT(HSSGousnT(Hib sTITM) LD TemTau T % smem

s sLILIRSHIUTT. B)5 B)susuTnigsmpssLLH S DS

Options :
Inferencing
DETHID

1. ¢

Classification
. o em & LI LI () 6 Gl Hs0

2.

Prediction
56T &5 & 60

3. %

Questioning

Cxsral] G Ls0
4. %



Question Number : 148 Question Id : 4771873362 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the NCF-2005. the following are to be taught in Environmental Studies
at Primary Stage

NCF-2005, @leir Ly isireumeusmsumpilel GlsrLsss ssoallullsh #DmiFELpsd
ssballuilsh sTsiterr sHMIS HTEsuswT (HID?

A) Environmental Protection

FMMIF LML LITHIHTHHD
B) Poverty

65U M) 6T LD

C) Child Labour

BYbmss Ciprifsorart
D) Illiteracy

uig Uit el sitem o
E?l Caste and Class equalities

FTH OMID suTSHS FLOBleNsV
Choose the correct one

FHWTaT @aTennsd CHTHESHES
Options :

A B.CDE

A.B.C.Donly

A.B.C.D i G
2. ¢

A B.C.Eonly

A B.C.E v’ pib
3. %

A.C.Eonly

A, C. E wl_ @b
4. %



Question Number : 149 Question Id : 4771873363 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The lesson — “Child Rights™ — was developed based on the following theme 1n
Environmental Studies

FDOMIFGLPsd Hevalluilsy LlsiTeusuBHib sThSS & HLGLTHST g risnL_uilsd

"HUbins 2 TsnSsT — UTL LD 2 (HeuTHS0UL L Fi

Options :
Safety
UTHISHTLLY
1. %

Food. Health & Hygiene

2_emTey, 2_L 60 H6ULD WOMHMILD FHTIsw LD
2. %

Values and Rights
sl S6r WHMID 2 Flen LS siT
3. ¢
Travel

LI WL 50T LD
4. %



Question Number : 150 Question Id : 4771873364 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following activity will NOT help the teacher to create the effective
EVS (Environmental Studies) classroom environment
Ulsireumid GlFwsburBssr suglilsnnsd FHpsflsh GlFWTSESWTaT FHMNF GHHLPD
seallenil 2_HauTss o, ATIITSERSEH 2 HaITHl
Options :
Discuss in groups

@ (pailsh He0kSHIsHTIITL 60
1. %

Think and Say

) FbISHS piFd

Collect and Record the information (Tables)

sHasusiEmerd GFsiflssan uglaytlFiisad (UL 1y uis)ssT)

Reading the books
RTEUHMETL LiLg & 60

4.



